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Chapter 1 Test Review:

1. Determine if the given operation is Commutative, Associative, Both, or Neither.  Give an example if it is not

a) Addition

b) Subtraction 

c) Multiplication

d) Division

	2. Determine if the following sets of numbers are closed under the operation.  If no, give an example of why not:

	a) odd numbers; multiplication


	b) odd numbers; addition



	c) prime numbers; addition


	d) irrational numbers; multiplication



	e) even numbers; multiplication


	f) even numbers; division



	g) {-1, 1}; addition


	h) {-1, 1}; division



	i) {0, 1, 2, 3, …}; addition


	j) {-1, 0}; division




3.Evaluate the expressions…

	a.   
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	c.     (3 – x)(x – 2)  if x = -6



	d. |-x| + x2  + 3x + | -7 – x|    if x = -1



4.Simplify: 

	a.
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	b.
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	c.    | 6 – 13 | - | 22 – ( - 6 ) |

	d. 
[image: image5.emf]








   

-

3

8

æ 

è 

ö 

ø 

14

12

æ 

è 

ö 

ø 

20

-

21

æ 

è 

ö 

ø 

-

2

6

æ 

è 

ö 

ø 





5. Solve for the variable: 

	a. Solve for x:   3 – x = 2 – 3 (x + 2)
	b. Solve for a:
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	c. Solve for y:      3x + 2y = 6


	d.  Solve for h when V = 128, r = 8; V = 
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	e. Solve for h when A = 2(r (r + h)


	f. Solve for x:         ax = cx+ 2



	g. Solve for x:
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	h. Solve for a: 
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	i. Solve for x:      
[image: image10.emf]A=2y-(x+c)









   

A=2y×(x+c)


	j.  Solve for x:     
[image: image11.emf]2(6x+5)=4









   

2

3

6x

+

5 ( )

=

4
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	l. Solve for x:     
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6. WORD PROBLEMS

	a. At 10:30 A.M. two planes leave Houston, one flying east 560 km/h and the other flying west at 640 km/h. At what time ill they be 2100 km apart? 



	b. Each of the base angles of an isosceles triangle has a measure that is 30 less than the measure of the vertex angle. Find the measure of each angle



	c. The sides of a quadrilateral are consecutive odd integers.  The perimeter is 56 cm.  Find the length of each side



	d. Larry has an annual return of $213 from $3000 invested at simple interest, some at 5% and the rest at 8%. How much is invested at each rate? (Hint: Interest earned = Amount invested x Rate of interest)




	e. The sum of twice a number and 21 is 83. Find the number.



	f. Mr. Magoo manages a local spectacles store where his base salary is $300 per week plus 1.8% of the weekly sales at his store.   What must the weekly sales be in order for him to make $ 570?



	g. Planes A and B are 3000 miles apart.  They travel toward each other.  They pass each other after 2.75 hours. Plane A travels 45 miles per hour faster than plane B.  Below, set up a correct equation, and solve for the missing variable (round to nearest whole number)

a. How fast is plane A moving?

b. When the two planes meet, how far apart are they from the point where plane A started?



	h. An online music store sells CD’s for $ 13.95 each plus $ 2.95 shipping and handling per order (not per CD).  If your bill was for $ 86.65, how many CD’s did you buy?




7. RANDOM:

	a. Give the opposite of – 5z + 6x
	b. Give the reciprocal of – 5/ 7




	c. Multiply
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	d. Simplify: 
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